outer

entry / {}
exit / {}

to_inner

chart.post_fifo(
Event(signal=signals.to_inner),
times=1,
period=random.randint(2,7),
deferred=True

)

chart.transmit(
Event(signal=signals.other_to_outer))

® >

/ inner

\

entry / chart.post_fifo(
Event(signal=signals.to_outer),
times=1,

other_to_inner

period=random.randint(2,7),
deferred=True

to_outer

)

chart.transmit(Event(signal=signals.other_to_outer))

exit / chart.cancel_events(
Event(signal=signals.to_outer))

other_to_outer

other_to_inner/ {}
to_inner/ {}

.




